BANK BRADESCO Form 6-K March 11, 2011

# UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

### FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2011 Commission File Number 1-15250

### BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

### **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether th	ne registrant files or Form 20-FX			over Form	20-F or Form	1 40-F.
Indicate by check mark whether turnishing the information to the Co		_				•
	Yes	No	_X			

#### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2011 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family (x) Controller's

**Dependants** 

**Openning Balance** 

	3 - 4.4					
Type of Securities/Derivatives	Quantity	% of partici	% of participation			
	•	Same type of	Total			
		Shares				
Common Shares	1,216,073,621	64.6426	32.3213			
Non-Voting Shares	19,151,410	1.0180	0.5090			
Closing	Balance					
Type of Securities/Derivatives	Quantity	% of partici	pation			
		Same type of				
		Shares				
Common Shares	1,216,073,621	64.6426	32.3213			
Non-Voting Shares	19,151,410	1.0180	0.5090			

#### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2011 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Group and Family Dependants	o Bradesco S.A. (x)Board of Directors		oard of Exe Officers	cutive	() Audit (	Committee	` '		cal and gencies
•			Openning	Balance					
Type of Securities/Derivatives				Quantity		% of participation			
						•		Same type Tota	
							of Shares		
	hares				13,087,920	0.6	957	0.3478	
	Non-Voting S	Shares				17,665,190		390	0.4695
			Month Mo						
Type of	Broker	Ope	eration	Day	Quantity	Price	Va	alue in	ı R\$
Securities/Derivation	tives								
Common Shares		Buy		09/fev		1 23.88	•		23.88
Common Shares	Bradesco	Buy		09/fev	,				7,625.00
Common Shares	SA	Total			39,90		R\$		7,648.88
Non-Voting Shares	es ctvm	Buy		09/fev	,				7,334.35
Non-Voting Share	es .	Buy		01/fev	,				0,970.00
Non-Voting Shar	es	Total			12,97	1	R\$	38	8,304.35
Closing Balance									
Type of Securities/Derivatives			Qua	antity		•	ipation		
					Same t		Total		
							of Sha		
Common Shares					13,127,821		978	0.3489	
Non-Voting Shares				17,678,161	0.9	397	0.4698		

Company: Bradesco Leasing S.A. Arrendamento Mercantil

Group and (x)Board of Directors () Board of Executive Officers () Audit Committee () Technical and Advisory Dependants

Agencies

**Openning Balance** 

Type of Securities/Derivatives Quantity % of

participation Same Total

type of Shares

 Common Shares
 5 0.02130.0213

 Non-Voting Shares
 0 0.00000.0000

**Closing Balance** 

Type of Securities/Derivatives Quantity % of

participation

Same Total

type of Shares

Common Shares 5 0.02130.0213

Non-Voting Shares 0 0.00000.0000

#### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2011 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.									
Group and	()Board of	(X) Board of Executive		( ) Audit Committee		` '			
Family Dependants	Directors	Officer	Officers				Advisory Agencies		
Dopondanto		Onennir	ng Balance	<b>.</b>					
Openning Balance Type of Securities/Derivatives Quantity % of participation									
Type of Securities/Derivatives			Quartity		Same type Total				
						of Shar	•		
	Common Sh	ares			899,573	0.0	478 0.0239		
	Non-Voting S	hares			1,913,489				
	G		Movement		, ,				
Type of	Broker	Operation	Day	Quantity	Price	Value in R\$			
Securities/Derivativ	es es	•		•					
Common Shares		Buy	09/fev	20,000	23.76	R\$	475,200.00		
Common Shares		Buy	25/fev	5,000	24.69	R\$	123,450.00		
Common Shares		Buy	25/fev	5,000	24.79	R\$	123,950.00		
Common Shares		Buy	23/fev	2,100	24.34	R\$	51,114.00		
Common Shares	Bradesco	Buy	23/fev	20,000	24.35	R\$	487,000.00		
Common Shares	S.A.	Buy	23/fev	500	24.58	R\$	12,290.00		
Common Shares	C.T.V.M.	Buy	23/fev	600	24.59	R\$	14,754.00		
Common Shares		Buy	23/fev	17,600	24.60	R\$	432,960.00		
Common Shares		Buy	14/fev	500	24.86	R\$	12,430.00		
<b>Common Shares</b>		Total		71,300		R\$	1,733,148.00		
Non-Voting Shares		Buy	23/fev						